
Year —Revision—Calculation #4—BODMAS  

Complete each BODMAs calculation 

6 x 7 – 4 X 8 

 

9 + 23 – 5 x 5 

 

4 + 21 ÷ 7 – 9 

 

8 x 7 x (12 – 5) 

  

(5 + 9 ) ÷ _____ = 2 

_____ ÷ (7 -2) = 3 

8 + 6 x _____ = 26 

9 x (12 – ____) = 63 

Fill in the missing number 



Insert the correct symbol (< or >) 

4 x 6 + 5 _________________ ( 18 ÷ 2) x 7 

  

15 – 4 x 3 ________________  36 ÷ 4 – 6 

 

7 x 4 + 8  ÷  2 _______________  (27 + 3) ÷  3 

 

82 - 15 x2 _________________ ( 5 x 6) + 22 


